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N.B. .— (1) Attempt All questions.

(it) All questions carry equal marks.
(zit) Wrong answers of MCQs will get negative marks.
G) @ y¥ gredn
(i) W YEAMT AR O SR
(fii) ~ TEIATRT UTATSAT eIl SUH HUMTHS U 3.
MCQ
1. Attempt the following Multiple Choice Questions : 10

Tellel Sgaardt yed green

(1) What is the problem of marginal farmers in India ?

(@)  less capital (b)  less collective bargaining
(c) Both (e¢) and (b) (d)  None of these
YRARTA HHAG Ydeh-are S hion 2
(@  wH Wrsed (b) HH AR
(© = (@) 9 (b) TR (d) et
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Which is the effect of globalization on Indian Agriculture ?
(@) Monopoly of multinational corporation
(b) Hazard on public distribution system
(c) Hazards for marginal farmer
(d)  All of the above

STTeh R OTTaT ARATE TIfeR Jeletdehl <hioral 9ROmT Ser 2

(@  FgUSE HUATE HHRIGR]
(b)  HESHH TIawu xSl ©reh
(¢c) AR Sdh=ATT &Rt

d) =t ¥d

From the following which is not a reason of rural labour migration

towards urban ?

(@) Seasonal nature of agriculture
(b)  Lack of employment

(c) More industrialization

(d) Lack of educational facilities

UMY TSR IEAehe T Jelotdeh! hIvd RO @l 7

(@  Ud= T ey

(b)  USTIRTEN 3{4TE

) s sicafirnto

(d)  Seforh ERA=

Which is the demerit of non-institutional supply ?

(@) high rate of interest (b)  Absorption of farmer
(c) Misbehaviour of accounts (d)  All of these

3Tnfed JaqRaSITal Eaideh! SIS iUl ?

(@)  ASEl S € (b) SawrEt U

)  Tesiema TRegeer (d) I gd
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(5) Which is the function of NABARD ?

(@) Development function (b)  Regulation function
(c) Financial function (d)  All of these

TS HIVA Hd 3TMed 2

(@ fowmmms &H (b) TEETEE w e

(¢) faxita = (d) A wE

(6) Under the land reforms program, which of the following reforms are

necessary ?

(@)  Technical reforms (b)  Institutional reforms

(c) Both (a) and (b) (d)  None of these

Il GENON HEHAA qelcieh] hiviel RO Qo Tewes TR ?
(@  dIfrR gEron (b) ~ HEUHH GEROM

©  (a) 30T (B) (d) YT

(7) Match List T with List IT and select the correct answer from the codes

given below :

List I List II
(A)  Ceiling on Land Holding () Change related to agriculture
(B)  Central Land Reforms (zi) Land Reforms

Committee
(C)  Social Justice (@iz) R.K. Mukher;ji
(D)  Land Reforms @v) 1971
Codes :
(A) (B) ©) (D)
(@) @) (i17) @) @iv)
b)  (@Gv) (i12) (@) @
() @) @) (@) (ii1)
(d) (@) (@v) (@) @)
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-1 9 IAt-11 At A Sreel Sesed @elt feetiedt Gehdich TE[H AT STt
IEESEETUE:

et 1 RGN |

(A) AT SEHE GEROT @) Pl €
(B) g UR Hfft (i)  gEron
(C) HmHIfSeh =™ (fii) SR, TESi
(D)  gER (tv) 1971
Hehdich

(A) (B) (&) (D)
(@  GD) (i) @) (iv)
®  (v) (i) (if) @)
@ (@) () (ii0)
(d) () (iv) (if) @)

Find out the odd sentence :

(@)  The regional banks grant direct loans to the State Co-operative
Bank

(b)  The regional banks grant direct loans to small farmers
(e) The regional banks grant loans to big industries

(d)  The regional banks grant loans co commercial banks

forma o 3@

o

foTh R U9 TehI Sehall el hel JLAal hamd

al

(@) g

o~

foTh ST @RIV Taeh-AM Jcdel et YRaal hidn

al

b)) T

(c) YRR ekl HIGA ISUNTe A& st YRadl hidd

(d) YRR dH U Shal TAG FHst &S HIAW
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9) In 1917 state farming was initiated in ...................oinLe. 3

(@) Russia (b)  England
(c) France (d)  India
1917 TEY T I GGG a1 9 e FAE Al
(@ e (b)  FwE
(c) HrH (d) — ¥Rd
(10) The ratio of marginal farmers 1S .........cccooeeeiiviniiinnnnn. in India.
(@) Medium (b)  Very low
(c) Very high (d)  None of these
TRATT TG SR T oo T
(@ =M (b) g4 wH
) T4 ST (d) adent e
Theory

Explain the problems of marginal and small farmers in India and suggest

panaceas on it. 10

IRANTE @ & HHd Sash-ared THel T Hed e 3UF . al.
Or
(fenam)
Explain the role of NABARD in rural development.
Tt fowmE Teree i TR .
Explain the impact of Globalization on Indian Agriculture. 10
SRTfAehIeRLUM WA Yrcfteriial aRumm ¥se .
Or
(feram)
Write down the functions of Commission for Agricultural Cost and Prices.

Ft T N qed STt i foran

P.T.O.

86FESFDE3068E36A4773C9158A9814BA



WT ( 6 ) B—303—2017
4, Write short notes on (any two) : 10

(@) Rural Labour Supply

(11) Need for Agricultural Credit

(tii) Peasant Farming

(tv)  Problems of Rural Labour.

e fom famr (FowE 89)

@) T SHYEL

@)  Poit fa@mEr RS

(i) ol Wt

(i) T FASEAT HEE
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